LER S
m o ” i
o © a]
2 3 c I S
Q ] o o ]
I = 5 N9 o [a
gs? @ ol 2|2
6E0o R IR TS ©
mom H - 2
Qo I 2 5 ®©
c = H [ o S
£33 e 3 5 S
o ﬂ £ ' o
£ Q o} ] Y
K o w P _ 3
2 2| 2 s l2|¢g]¢
= N o a S 3
) o O a ) ] =
Z Q S 5 o) o <4
3 18|g|2|e| g S8 |8 s
T alolZz|5| Q Z s | & o)
S al % = >4 2 0
[<} L e - —1 [} (@)
. = M S [@ £ D > &
s 3 £ 2 k= | £33
3 X = T I 3 = ) 5
H @ | w (& |8 |3
= N 2 = =1 c X
3 = 2 d % - - 4
e o o G| S 3 < @
2 2 =] s N | = B o
83 s W = W a, c
32 o o © ® P
s i 2 S lz|3|2|s
o 58 ot © gl o N S s 3
N SE H 3 o| E 2 £ & »
a 3 = S| - o § 5 < = 8
0 2 o Zl x < = S m
14 N h-] o N N N m =
<8 | e = £ £ g S
= 9 o & o 5 5 5 N N
= 29 |2 § g E| || 8| E
O ¥¢ |8 8 |. -
23 (3 3 g |2 o)
mm 2 Q S |5 5 = i = .m ®
33| Slelzlg 12 [HE|E|E|§)¢
YN wl|e| =] |2 Sle |a|a | &[S
%“ “%“ iy %“ “%“ s
y — 16687 —— 16687 —— 665 L 79687 —— 1968 < 65 — - 19687 —— L8687 1 975 — L 1ge87 - 18€87 —— 815 —
L SE87 —— 1687 —— 59 974987 —— 18687 4 91 - €287 —— 68687 < 90 — 11987 —— 88687 4 90 —
" L e s | 91 b oormee | ceesz |, 97| yoolst | oteess |, 97| y oot | oeeess |, 97|
M N osrier [N oseesz [N 052 N oo [N sees 057 Noeoge [N tees 057 Notos [N eees 057
ey 2 ey ey
Yo NN =S TS
£2 8 06987 —— 66'€82 000 Sa i 61987 —— 10487 000 S8 8 8187 —— €087 000 PN U187 —— 8687 000
+ + + +
~ I ~ = ~ = ~ IS
= SEM80—— U8~ 057 E 178~ S08T—~ 057" - ;wi - €0980—~ 8087—~ 057" - .;_Ami = 4980 0987~ 057" -
N g N oee | osor | N gesr N osoner |\ sor- . N o oo |\ osor r N o N o |\ osor
RIS TR T A \ AL TR A A A m a.éum g_éum A \ N Ozzum g_éum e -
\ 61482 \ 61482 \ £ \ 10482 \ 10482 \ 75¢ 60987 |\ 60482 8ve- a8z |\ sover |\ wwe-
@ > = i N S = | N S = S, > =
= m = K B K = m = K B K = m = B4 B K S m =
£ = 2 2 2 S s = s 3 2 =
(%] (%] (%] (%]
= & = & = & = &
S S S S
ar ar ar ar
& & & &
& 8 8 & L 8 g, R & .8 8
= T = = LI = T
| covor L comgr L 77 | 17987 —— 1080 —— 175 — 11987 —— 14980 —— 675 —
L1687 L 168z L 96 €78 T Eree i@ / /
ﬂ 10—~ 16— <o L 5t87 —— 17180 4 591 — 1 19987 —— S7987 4 90 — 75987 —— o087 —— 590 —
2y PR A R T A PR X st _|oossr |, s9r | b otsmez_|oezst |, 97| m.ﬂ L oosoez | oozwsr |, 97 |
N t6m8z [N q6m8 N 05T N conez N 08z N 05T | Nosqez TN 68z N 05T | AR A A A
ey 2 2 2
=T o = = o SO
TS e I T8 T S
S 3 20587 = 16782 000 La 3 B 04987 —— £5%8T 000 $a 8 95987 —— 9€'487 000 £8 8 67987 —— LT48L 000
~ 3 ~ ES 9 ~ & ~ I
E L 0567 0058 057 ma L G 1998l 057 ] C ;,;NH% mm_én% ke L 9578 0E8I— 057 ]
Voo | oosw oot m N g oo |\ st MMNNW NM“MM MWN Vo o oot
— — — — p— < —_—) —_— p— — — p—
> N 6050 woser - sue- A TR N A T N7 A S S e N oiomer N sewsr N osre |
. , \ N o N RAACAN NRARL A 1 N T
ez |\ Losee 8ec w980 |\ 298t 67€ s | otewer S
L_u“ y y R 1] =] K _ﬂ R 1] =] K 1] =] K <] =] K
< < < ] 3] = < < ] 3] = ] 3] = ] 3] &
g B 5 2 =5 g =205 g B 5
s & & s ¢ & s ¢ & s ¢ &
= g 5 g 5 g 5 g
(5] o (5] o (8] o [<5) o
— — — —
= = = =
N N N N
[a = [a - [a - [a -
= 3 = ==y 3 = 3 = ==y 3 = ==y
s & 8 03 g 8 g g 08 g 8 02
L T T L L L LI L L
— 17587 —— 17580 —— SL'S
- €587 —— €680 —1— €65 —
PTAS T VA< T P 15 bot0ser L t0seT_L 16 |
— 998 —— 0%'98C —— 997 = €4'980 —— "€'980 —+— 997 — K 8es8z T 47S8L TS 59y T K 65z T 40582 9y T
b owesr | orss | 97 b o6vser | oeesez |, s97 | Voo |osrser |, 97| b ooser |oeosez |, s97 |
N oco9sz TN zeser [N o5t N ocosgz N seser 05T | NI A A N A N os0sez N s0ser 05T |
2 2 2 2 :
= o = o S =2 o :
=S ENES T =S :
$8 8 01987 —— 20982 000 $a 8 §9'587 —— 47582 000 S8 A £6'587 —— 06582 000 S8 S 21587 —— €582 000
NS <3 <3 <3
;E = o =+ ;.mmwnw e Jw = m;mwnw om.mmwnw 0t L oeSe o €SI 057 ﬁ; L 6 9 057
i 12987 L6562 91 i 658 0558 97 N e N cccar N cq7- ! N . N et N 9z
L 11987 e 96587 L STE- . L grser L 558 szer _ _ _ i - - _
e e \" e e I 1o eese T sre- T PRSI IR 1 Sre-
658 68T 8SE- A S A
96587 |\ meser 9 gsez |\ erser 0€E
~ NS H '+ @ = =Y L_u“ s @ = =Y L_u“ = @ = =Y L_u“ _.._f“ A a =2 @
= S S S 5 g z S s 5 g z S g 5 g z S s g 5 g z
— — — —
2 = 2 2 = 2 2 = 2 2 = 2
+ £ S + £ S &+ £ S &+ £ S
= g 5 g 5 g 5 g
[<8) o (8] o (8] o (8] o
S S S S
ar ar ar ar
N N N N
[a = [a = [a = [a -




